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Q no.2

What arc the objectives of computer communication networks? What are the network cotrlPooents? Explain.

Q no.3

Explain tlre ctraracteri*ics of IP, TCP, UDP ?

Q no.4

Imagine anetwork of 6 devices A, B, C, D, E and F. AU deviceq are on same packet switoh.

If a computer A wants to send packet to computer E, How would pasket switch forward this packet?

Q no.5

Write short notes on
a PackaSwirching
b. Message Switching

Q no.5

Which two serviccs are provided by the Transport layer for host-to-host delivery of segments? Explain in detail

the sharasteristics of both and differentiate them with respected to the application layer protoools that they are

ued for.

Qno.?

Consider the abore figue, in which there is a cloud of networks having various networks.

Suppose therc arc 7 routers in betrryecn Host A and Host B-

Identify

r. How come host A knows the rddresses of all the routcrs benreen A to B?

b. Whst will be the value of the TTL lield when the source Host A sead the diagran 7ft time towards

the destinationB, and the third nguler in the path receive that datagram?

c. How many times does the source A ueed to send the datagram so that it finally rcaches at dcstination

host B?

d. Whd will be the value of the TTL freld wheo the soruqe host A send the datagram 4n 6me towards

the dcstination B, and the sccoud router in the path receives that datagram?

e. lVhat will be the value of the TTL field when the souroc Host A sends the drtagrem ftst time

towards thc destination B, and the first router in the path receives that datagram?
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e.1. Encircle the right answer cutting and overuvriting is not allowed. (10x1'S=f Sl

l.Internet Addnese or IP address with venion 4 comprises of......

(→      16

(C)    32

(B)   24
o    48

2. NIC Addrcs or Physicrl Address eomprises of.....,.

(A) 16 bits G) 24 bits

(ci 32 bits (o) 48 bits

f. *nicn hyer iS responsible for PrOceSs to Proccss COmmunicatioo"""'

(A) Data Link Layer (B) Netrrorklty-tt

iCi Trursport Layer 1p) Presentation Layer

4. Any computer conneted to a network ic called... while rny dwice conneeted to nGtwor{s"

(A) node,node (B) host'host

iCi node.host (D) host,node

5. \ilhich is not trensmission ImpdrrlGot....

(A) crosstalk (B) signal Modification

iCi Sig1al weakness 1p) Signal Regeneration

O. 1.Uu raoa-arOs which lrc automatically become the stendards as convention lrre"""

(A) legal sundards (B) de facto
(D) conventional

,1?*,*rd":,'H;t"g and routing is happened on the laver""'

(A) Data Link LaYer
(C) Transport LaYer

E. Walkie Talkie ig an erample of...-

8          8 譜駕hampb9ftranmttm
c)  mded Media          (F) None
9:Which Topology uses■ ore connec饉 Ons to establish.。。。.

o) Ring
O) MeSh

10. ASCI and Unicode comprises of respeetiYely""

o)  8,16 bits
(D)  4,3 bits

(B) Netrnork LaYer

(D) Session LaYer

O Star
(C)   T鵬

体)  t16bれ s
(C)   7,16
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NOTE: Attempt any FIVE Quesfions in all white Question No. I is computsory.
All questions carry equal marks.

Qustlon & 120 mar*r!

Erylaln thc iollowlng conccpt3 wtth exampl:r (Comprhoryeuc*lon!

A. Aggrsftlon
B. Usc Crse Model

Do  Dom● :n Mode:

Eo   inhettnce
C. GRAISP: €ouCfu

Quc*lon 2: (20 marksl

Deflne;ltcr.tlvc [Ubdel', t{amc ell thc strl33 olthc modcl, rnd cnpleln det lb of eedr rta3c
*'lth dct ll?

Qucctlon * 120 madc!

Utt THBEE Unlficd ModrlhU trgua3e Dla3nmr, aleo defrne the use of thcaa dlqnmr wlth e
rholtcramplc?

Qlltrtbn 4: (20 m.rkl

Wrhc r rhon noto on 'Requlremcm Gathcrtg Tcchnlqucf ln Requlrcmcnt Englnrcrlng
tlf:cplc?

Querilon 5: (20 mar*El

Ocfrne iGRAY BOf tcrtllg edrnlque ftrom So'fturarc Tertlrq Modtk wlth dGt ll, Aho prwldc
a rultabh cmmplc to erpldn your rmwcr?

Quardon 6r {20 maThl

Itamc eny IHREE 6RASP DGstSn Pattcnh? Dcfinc thclr Rolsr end usc wlth hclp of sulteblc
cmmplc?

QmstlonT: l2Ornad$l

Qrrfrrlly comldcr thr followlng tablr of Domeln ModGl Entltls and draw a Domaln }iodcl
Dlajram barod on thcm. Ako c*abllsh rcletlomhlpc end cerdlnallry ln thc dla3nm?

No. Endtt N8me Endャ DescFlptiOn
1 USER CLoores rtsfion rnd pew buc ftrc for thc bus tlekst

2
BIs TLketang
遺 ●LIE●

Tlcltctlng nrcUnc d&plryr lbt of bur rbtonr rnd the frro

3 BucCard Coutrlnr uscr lnformr$on ead pro-pld crrd beleucc
4 F●Fe Tte emount of earh nccdcd to bc nold uelnc thc cerh bor
5 C●sh Box Bor thrt rcccpbcurrcnc,y noter forfer"c Dryuent
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Q.l. Encircle the right answer cutting and overwriting is not allowed. (5x1= 5)

1. Meta-Dendralls an example of use of knowledte ln:
a. Deductive learnlng
c. Both of the mentioned

a. Expressfueness

c. Both of the mentioned

2. What ls/are the mafor dlmension(s) for evaluatbn knowledge representatlon languages.

3. Artlflclalintelllgence ls concerned wlth lmplementlng a welldeflned algorlthm ratherthan
developlng solutions to org3nlze large and varled amounts of knowled8e. Thls statement ls:

a. True b.False

4. Chlldhood trick of trying to sohe a maze by worklng back from the finish to the staft, can be

classlfied as example for:
a. Forward search
c. Goal-orlented search

5. PROTOG ls a procedural language. Thls statem€nt is:

a. True

Q.2. Fill in the Blanks.

b. False

Semantics refers to

Member (x,[a,b,c

Entropy refers to

N), the answer to the query will be

Plausibility refers to

Perceptron can model data that is

Backpropagation refers to
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b.lnductive learnlng
d. None of the mentloned

b. Effidency
d. None of the mentloned

b. backward chainlng
d. backward search

(2)

(2)

(2)

(2)

(2)

(2)

MYCIN uses

for

to diagnose and prescribe treatment

Meta-DENDRAL learns from positive examples only and performs a

(2)

(1)search of the concept space.

１
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ATTEMPT THIS (SUBJECTIVE} ON THE SEPARATE ANSWER SHEET PROV-IDED

NOTE: Attempt all questions. All guestions carry equal marks.

&3. Suppose a tene$c afiorlthm uses chromosomes x of the form x. a b c d c f wlth a fixcd length

of drinns, Each gene can have any dlgltvalue between 0and 9. Letthe fftnesstaaluc of an lndlvidual

chromosme x bc calculated wlth the followlng fitness funcdon:
flxl - (a t b + 0 - (s' dl / (cl
and let the lnltlal populatlon conslst of four lndklduals wlth the followingchromosomes:

xl=454135 x2・ 251266 x38669212  ‐  X48348520
Wlth $6 lnformatlon, perform thc fiolbwlng oper"tlons: [i/la*s dhftbutbn 1i2 + 5 + 3 E 201

l. Calculatc the fitness value and perform evaluatlon on each drromosome uslngthe provlded

fltness functlon.
ll. Also pcrform two-polnt crossover after cut-polnts 2 and 4 using the two fittest chlomosome

8ene3.
nL Lastly, perform mutatlon on x4 by mutatlnt gene at locatlon 3 wlth the wlue of 9, and

calculatc lts fitness.

&!LPerformAlphateta-prunlng lheurlstics lngamesl tothe gtuengame.tree.Also llstthe u$lltyvalue

for max-player gtuen the trce. [MadG dbtrlbuilon 16 + ll r 201

[ln the glven trie, simple trlangle denotes max-player move wtlle lnverted trlangle npres€nts mln'

player move.l

-10
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ュュ Run a sing:e mcuthn offomard propattn and bachnrd p"pagatlon on the glven neura:

networko Actual outp血

“

zeroo Assume sむmo:d ttnc油 Dn as actlv柿 n ttncttDn on a‖ 圃 Юnsthat t
glven below.lMarLdittbutlon 5+■5=201e
Nme:unes(wtthOぃ arrOwheadsl are added to cLarlv highlight the associatbn/edge between
neuronswnhthe respdMDwetht

魚L USe the fo::釧ung graph and applv 3鴫 Dtt and AO on k.Heudttc rumttOn values are provlded
:n tabie separateけ 。Run Att using both heurlmcs menttoned and dLEuss whlch heurlstlc ttmlon L
better and whv.[Ma山5 di鈍‖buuon 4+4+606=201.・ a"皓 thegmttng mde Wh“ “′:s the
800: node.

Page 2 of 2

Nodes hl h2

a 13 10

b 11 7

C 10 7

d 5 2

e 3 1
‘
― 10 1

Z 0 0
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Quoot10n#2.

Attempt any FOIIR guesfions. All questions carry equal marks.

(1002● 20 Mark31

1. Explain any five parts of Htp rquest with example'

z. A cliant wants to send a request to serverto tind the type of an alphabet provided by user' So, write

a ctient server applicatlon in wtrich client take an input from user as singlc chamcler m.' I.*
alphabet(+z) and send the input to server. After recsiving input from client sorysr drsday whether

tho enter alphabet is Vori,el or Consonant. lf the user input is not an alphabat, or ls a efin9 of leng$t

> 1, eerverwill print an eror message.

l. Writs a codetofind a pair of elements in an anay of size'n'whs€ sum is maximum.

Z Write i program that riaOs a line of text as oornmend line argument tokenizes il uehg space as

delimiters and print the count of words of length is greater than 3.

Queetion # 3.

1. What is the puposq oJ Driverll.anager in JDBC?
2. Wfi{ are'implicit obiects in iava? List down any two.

3. What are the three stages of Servlet Lifecycle?

4. Differentiate between sequential execution and multithreading in iava'

Question #4.

{ミ‐ 20 mark3)

(5●16=20薔ark8)

4. V晩喘3 a function to lnd common elements between mo list。

QuesuOn#6.
WFb dOWn the ottut offOl10w:ng proOram3.

&{'20llarks}

(ヶ弁 20 mark3)

public class abc

{
public static void main(string agsil) {

String-hltial = f'Flellol I am heren, after = "";
after = initial = initial.replace('e', 'a');

System.out.println(inltial + ", " + after);

I
I

pubiic class abc{

pub‖ c sta■ c void main{St“ng[l args}{

int口 tabie={1′ 2′ 3′ ■5レ

tab!elll=“ able12申 1卜=2‐ args.length}?table131:99,

Systemoout.p羹 ntin(tabiel■ ]),

}

}

2.
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3.
//Assume the input ie "lam studying at Punjab Universityr
import java.io.';
public class Tast {

public static void main(String argsfi)throws lOException

{
lnputStreamReader inp = 6ull'
inp = p6* lnputStreamReader(System.in);
char c;
dot

c=tctrgfltrrg.rsad$;
System.out. println(c);

) while (c l= 'l');
l

)

String d = "lnternet programming Punjab univercity ";
d.suhstring(10,21);
d ='examo + d;
d.append(' Final");
System.out. println(d);

Qu03“On#7. (20 tarks)
Suppose a datrabase'DB' contain an employee table and employee table have some draraderislics as:
emp-no, emp-name, salary, commission, job and hiredate. So, yor are asked to Wdte a JSP fogram
thattake the data from employee table and print employee name, totalsalary and expericnce of rmrlcing
usiqg hiredate information Note: Tte color of the border of table must be green.
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